
E1_1      10 airplanes  E1_2      5 airplanes 

Profit S$ 
100 

Happiness 
points 

+4 Profit S$ 
50 

Happiness 
points 

+3 

Estimate 1 – 2 – 3 – 5 – 8 - 
impossible 

Estimate 1 – 2 – 3 – 5 – 8 - 
impossible 

  

E1_3      3 airplanes  E1_4      2 airplanes 

Profit S$ 
10 

Happiness 
points 

+1 Profit S$ 
10 

Happiness 
points 

+1 

Estimate 1 – 2 – 3 – 5 – 8 - 
impossible 

Estimate 1 – 2 – 3 – 5 – 8 - 
impossible 

 

E2_1     10 hats  E2_2     5 hats 

Profit S$ 
60 

Happiness 
points 

+2 Profit S$ 
40 

Happiness 
points 

+2 

Estimate 1 – 2 – 3 – 5 – 8 - 
impossible 

Estimate 1 – 2 – 3 – 5 – 8 - 
impossible 

 

E2_3     3 hats  E2_4     2 hats 

Profit S$ 
30 

Happiness 
points 

+1 Profit S$ 
20 

Happiness 
points 

+1 

Estimate 1 – 2 – 3 – 5 – 8 - 
impossible 

Estimate 1 – 2 – 3 – 5 – 8 - 
impossible 

 



 

E3_1       10 boats  E3_2       5 boats 

Profit S$ 
70 

Happiness 
points 

+8 Profit S$ 
30 

Happiness 
points 

+6 

Estimate 1 – 2 – 3 – 5 – 8 - 
impossible 

Estimate 1 – 2 – 3 – 5 – 8 - 
impossible 

 

E3_3       3 boats  E3_4       2 boats 

Profit S$ 
20 

Happiness 
points 

+4 Profit S$ 
10 

Happiness 
points 

+2 

Estimate 1 – 2 – 3 – 5 – 8 - 
impossible 

Estimate 1 – 2 – 3 – 5 – 8 - 
impossible 

 


